Total No. of Questions: 4] SEAT No. :

P4767 [Total No. of Pages: 2

[5822]-314
SY. B.&c.
STATISTICS
ST - 231 : Discrete Probability Distributions and Time Series

(2019 Pattern) (Semester - I11) (23171)
Time: 2Hoursg| [Max. Marks: 35
I nstructions to the candidates:
1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator and statistical table is allowed.
4)  Symbols and abbreviations have their usual meanings.

Q1) Attempt each of thefollowing:
ad Choosethe correct alternativein each of the following: [1 each]
) If X— NB (k,p) thenfor k = 1, x follows.
a GeometricDigtribution b)  Binomia Distribution
c) Poisson Distribution d) None of the above

i) Supposex = (x,, X, X)) —> MD (5,:_13%,%jthen var (x) is

a 910 b) 10/9
c) 53 d 10/3
i) 1f y =600, T =430, s=90, | =40 then under additive model
CcC =
a 50 b) 30
c) 40 d 1160

b) State whether each of thefollowing statement istrueor false: [1 each]
np

1)  Themean of B (n,p) truncated below at x=01is ?

ii) Seasonal variations have period lessthan one year.

P.T.O.



Q2) Attempt any Two of thefollowing : [5 each]
ad Derivethe expression for mean and variance of NB (K, P).

b) If (X, X,, X)) = MD (n, p,, p,, p,) show that the multiple correlation
coefficient R, = 1.

C) Suppose X, ispoisson r.v with A = 5 truncated below at x = 0 find

) P(X;<1) i) P(X, =259
i) E (X)) iv) P(X.>2)
Q3) Attempt any Two of thefollowing : [5 each]

a  Distinguish between seasonal variationsand cyclical variations.
b) Stateand Prove additive property of negative binomial distribution.
c) Estimatetrendfor 2021 by fitting straight line equation for thefollowing

time series.
Year 2015 2016 2017 2018 2019
Salesin 10,000 Rs.| 35 56 79 80 82

Q4) Attempt any One of thefollowing :

), find : correlation and

NG

N |-
N

a i) If X=(X,x,x)—> MD (8,

>

t

>

dispersion matrix of x and also obtain their ranks. [7]

i)  Explainwhat isthetruncated probability distribution withillustration.
[3]

b) 1) Discussany two components of time seriesin detail. [4]
i) If (X, X, X, X) = MD (n, p,, p, P, p,) find the
marginal distribution of x hence E (x). [6]

[5822]-314 2



	5822-314 (P-4767)

